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Note :

PAPER -1

This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory.

50 Q x 2 M = 100 Marks

Answer the questions 1 to 5 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. ) Buses . Others i
Year | vehicles wheelers Taxis (Lakhs) vehicles (Lakhs) (India)
akhs akhs

(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19

1.  What was the per capita ownership of two wheelers in India in the year 2011 ?
(3) ~ 0.068%

1)

~ 0.0084 %

(2)

~ 0.84%

(4) ~0.084%

2. What was the average decadal growth in the number of cars during 1961 - 2011 ?

1) ~68% Q) ~217% (B) ~157% 4) ~131%

In the year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)
accounted for :

1) ~24% Q) ~31% (3) ~43% 4)  ~14%

The maximum decadal growth in population of India is registered in the period :
(1) 1991 - 2001 (2) 2001 - 2011 (3) 1981 - 1991 (4) 1961 - 1971

In which year the decadal growth (%) in number of cars surpassed that of the two
wheelers ?

(1) 2001 2) 1981 (3) 2011 (4) 1991
wooo [ [JARRITHARN ORI
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WT-Ua -1

e U U H Ue (50) - fashedd U9 €1 U U % a (2) 3 €1 |l we e €
50 U9 x 2 3k = 100 Ak

Frfefiaa arferent # fou U 2Tehsl & SMUR W UPT 1 A5 SIS S |
AT : URA  USHehd Tl sht WEAT 3R U it THET

- Tl g | gUEA R | WK, S, o | A e | " | 9Rd i SHEE
() (eme) (M) | (FmE) | (Tm) (=) (Tafer=r)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 [1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19
1. =9 2011 § XA § gufean areAi sl ufd saferd Tt fohdan o ?
(1) ~ 0.0084% ) ~0.84% (3) ~ 0.068% (4)  ~0.084%
2. a9 1961 - 2011 % IR R & G | 3iwd g gfg fhaet @ 2
1) ~ 68% Q) ~217% 3) ~157% (4) ~131%

3. 942001 ¥, d1&l bl ol H& H § AN MRl (Fafedn argi) st HEeA o1 giaeid @4 o ?

(1) ~ 24% 2) ~31% 3) ~ 43% 4) ~14%
4. Trafafea § 9 foeg <o & SRA 9RA &1 SHEen § gaitis gig o & T8 2
(1) 1991 - 2001 (2) 2001 - 2011 (3) 1981 - 1991 (4) 1961 - 1971

5. form o H &Rl it & | g8 <9t 9ig (%), 3T drei i S H g8 TUh Ifg (%) T I
TE ?
2001 2

(1) ) 1981 (3) 2011 4) 1991
wooo | |[FHRIVRURLAICRT
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wooo J{RIRTIMERAE

The next term in the series ABD, DGK, HMS, MTHB, .......... is :
(1) SBL (2) PSK (3) RUH (4) NSA

Given below are four statements. Among them two are related in such a way that they can
both be true but they cannot both be false. Select the code that indicates those two
statements :

Statements :

(a) Honest people never suffer.

(b) Almost all honest people do suffer.

(c) Honest people hardly suffer.

(d) Each and every honest person suffers.

Code :

1) @and(© () @and(d) (3 (and(© (@) (a)and (b)

In a classroom, the probability of message reception can be enhanced by :

(1) Exposing the ignorance of students
(2) Increasing the information load

(3) Using high decibel audio tools

(4) Establishing a viewpoint

It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.

The above two statements constitute :
(1) A narrative (2) An argument

(3) A conjecture (4) A historical explanation

The spatial audio reproduction in a classroom can reduce the students’ :

(1) Respect for the teacher

(2) Motivation for excellence

(3) Interest in technology - orientation
(4) Cognitive load in understanding

=
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wooo [ ALENIRNEINATRA

sfgell ABD, DGK, HMS, MTSB, ......... T SFTeT UT ¥
(1) SBL (2) PSK 3) RUH (4) NSA

T =R FyF feu T ¥ T A S oay H 39 ae 9 Hefd € R 9 S 9 @ wehd € g J <
3T & B Wehdl | ST He T I L 91 37 ST HUET BT AT HAT E

(a) THMER =Afa Hff Fe & Jerd ¥

(b) TN G SHMRR AT F% eld & |
() SHMRR =Afa S & F Feid & |
(

d) U THMCR SAfad e Serdl € |

(1) (a) &R (o) 2) (a) ¥R (d) (3) (b) ¥R (o) 4) (a) &R (b)

gt e H Harg U St Hureaar 1 fefafed § 4 fred sean s gt § 2
(1) fornfeai st sAfugar SR e

(2) g R H i wh

(3) A SfHda % g IR I YA ik

(4) gfteenmon wonfid wYh

IE e Teh WM 9 § o 59 geat R ey o o1 3g9d gol a9 a8l &8 Tel o1 39 YK,
Sie o 39 o Gag H fopelt ot sifepe w1 fagia a1 S =t |

ST gt e fafda % € -
(1) T& I&H (2) TH Th
3) TH 3FFHd (4) U Ufqeifaes samen

ot et ® Tenfen 97 Y. Tfa 1 aore ¥ farenfefai o frfafad o & o1 w12 9okt &/ Tehdt €2
(1) Tl & fa see

(2) SR W a9

(3) iRt - sAfufomama § &

(4) g H IAHR 9

6]
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12.

13.

14.

15.

16.

17.

wooo J{RIRTIMERAE

A deductive argument is invalid if :

(1) Its premises and conclusion are all false.

(2) Its premises are all false but its conclusion is true.

(3) Its premises are all true but its conclusion is false.

(4) Its premises and conclusion are all true.

A good communicator begins his/her presentation with a :

(1) Non-sequitur (2) Repetitive phrase
(3) Ice-breaker (4) Complex question

In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :

(1) QMUBIADH (2) QFMFUOBI
(3) EPHNTEAS (4) MFUIQRTW
In the series 1, 6, 15, 28, 45, ............ the next term will be :
(1) 76 (2) 56 (3) 84 4) 66

Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :

(1) Father-in-law (2) Father
(3) Uncle (4) Grandfather

The interaction between a teacher and students creates a zone of proximal :
(1) Confusion (2) Development
(3) Distortion (4) Difference

Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iif) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : (a) All bats are mammals.
(b) No birds are bats.
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(i) No bats are birds.
(iv) All mammals are bats.
Code :
(1) (i) and (ii) only (2) (iii) only
(3) (i) and (iv) only (4) (@) only

=)}
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12.

13.

14.

15.

16.

17.

wooo [[{1LAITHININIE

T AT T ST € Afs

(1) 39P YR a1 3T frepd Geft et 2 |

(2) THh W YR I TTeTd B I SHehT TR Tl 2|
(3) 3Hh Wl YR o T B W 3HeR1 TR TTerd 2 |
(4) 3HP SMUR 919 iR Frehed |eft o=t & |

Teh ITH HEIWE I TR Fefafed § § forad I& o3 § 2

(1) Ak (2) TAEd! ggEY

(3) FEgEt (4) e wed

et | § “COVALENT” &I % BWPDUOFM ©1 “ELEPHANT” % %< B :
(1) QMUBIADH (2) QFMFUOBI

(3) EPHNTEAS (4) MFUIQRTW

Gl 1, 6, 15, 28, 45, ........... H STIE &A1 BRN -
1) 76 (2) 56 (3) 84 (4) 66

3TST, ThIT 1 S § | T ol ACHT i SR IR HId U 3T9MF A THT ¥ Y7 foh o HiA 72
THY J Hel ' SHHT A2, WA H A= g1 I Al 3R TRy o st FreAfafed o @

(1) ®Re-33-al (TIgL) (2) eL (foar )

(3) si%a (Jm=m) (4) UWSHX (=)

foreren ofiX foanfefdi & <= e Hare wHiTey S o o e 7
1) ¥H 2) fowm

(3) forpfa @) W

1 < SR TR (a 3R b) AU TR 1 37 1 e arerdi & 9w sk (i), (i), (iii) 3R (iv) e T
T | 39 2 1 =IA HL S THIOS § F Fehrel T (SR a1l 1 SThet ST G ®Y Y o )
el / freehif ot gerfar &

AMUR AR :  (a) 9 THIES TR B & |

b) IS ot gef =EES E B

(
e (i) IS Uall SRR T S ¥
(i) Fo val TR T TN T
(i) TS TETEE vt T ST S
(iv) Tt TR SEIEES B € |
<
(1) e (i) 3R (i) (2) A (iii)
(3) had (iii) 3R (iv) (4) HaA (i)

I 7




18. A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?

(1) 40 m. (2) 60 m. (3) 20 m. (4) 50 m.

19. Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not

increase oceanic volume.

What type of argument is it ?

(1) Hypothetical (2) Psychological
(3) Statistical (4) Analogical

20. The classroom communication should essentially be :

(1) Empathetic (2) Abstract (3) Non-descriptive (4) Contrived

21. Which of the following set of statements best represents the nature and objective of teaching
and learning ?

(a) Teaching is like selling and learning is like buying.

(b) Teaching is a social act while learning is a personal act.

(c) Teaching implies learning whereas learning does not imply teaching.

(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.

() Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.

Code :

(1) () (© and () (2) (a), (b) and (©)

(3) (), (b) and (d) 4) (), (@ and (¢)

22. From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :

(1) (d), (e and (H (2) (@) (@ and ()
(3)  (b) (c) and (f) (4) (@) (c)and (d)
voo [[{NANIRIED OO



18.

19.

20.

21.

22.

T SIfeRan ST9R wrferd e 20 Hiet Fel, SO SIfet SR e 10 Hiet Jar | aret 3R ged
IS 9% 10 HieX Tl iR et 3R g & 915 20 HeX 9etn | 98 o § Tifett o) ger iRk 70 Hier
T | I I HEe 9 ferat g WR?

(1) 40 HX (2) 60 HIX (3) 20 HiX (4) 50 HIX

S8 fireme ® 9 & freerd el 9 e &1 g 399 9l 78 el Sel YR fieerd gu asE
femge ¥ qg 1 3T 7Tél sl 7 |
7 frfafea o 9 fg YR o1 a& © 2

(1) YReheUATcHS ) TR

(3) wiferh (4) IR

el § Here 31farl 9 9 21 e

OBRESEED (2) S () TR-faoms (4) Hedt®

frefoafad Foml % Tgea § @ SH-91 e iR e % T T e 1 etad 9§y
AT T ?

(a) Toregor fosra & TAM § SR ST TORRT & ST )

(b) Toreror wrfSer Fea T Safer stferm safaaa F 71

(c) Toreror & erferm fafeq & Safer tferma foreror =1 wifed & e
(

(

d) eI Tk YRR I I I SR § Sk SR 36 e i SiE g |

e) Torero sk sra:fohen © &R yopfa § frush € Safe aiferm wsk fawar & e=fa wfha el 71
<< :
(D) ®), () 3 (o) @ (), (b) W (o)
3)

e < T g # | faenelt % 7 aifvaen s fafed B S e sif yomeft @ gt s §
T T 39 S I 30T F o fAU T8t F2 1 =97 H |

(a) Toreneft =1 q& srqva (b) foeneff =6t wftenier a9 wWuw
(c) fommefl =t sAfyrerea (d) Tornefl = forehm =1 sTeen
(e) fomneff =t @ =t o iR s (f)  foeneff =t wnfifer wwrga
< :
(1) (d), () 3 (f) 2 (), (d) ¥R (e)
(3) (b, (o) ¥R () 4) (), (o) ¥R (d)
2z (1T )




23.

24.

25.

26.

27.

28.

wooo J{RIRTIMERAE

In finalizing a thesis writing format which of the following would form part of supplementary
pages ?

(1) Table of contents (2) Conclusions of the study

(3) Bibliography and Appendices (4) List of tables and figures

Which one of the following is a key behaviour in effective teaching ?
(1) Structuring

(2) Instructional variety
(3) Questioning

(4)

Using student ideas and contribution

Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Applied Research (2) Action Research

(3) Experimental Research (4) Fundamental Research

A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?

(1) Experimental method (2) Ex-post-facto method
(3) Survey method (4) Case study method

Which of the following is susceptible to the issue of research ethics ?
(1) Faulty research design

(2) Choice of sampling techniques
(8) Reporting of research findings
(4)

Inaccurate application of statistical techniques

On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :

(1) Continuous and comprehensive evaluation
(2) Norm - referenced testing

(3)  Criterion - referenced testing

(4)

Formative testing

p—
=)



23. TH WY YaY 9@ HEe i Sl &9 3 | Freafafed 3 § SA-9 [Wh-g%) S 9E o ?
(1) faoa-awof (2) 3TeAFA o freRd
3) TU-E iR uRfere (4) GRMRN SR ATHS w1 g

24, Trafafea § @ w0 gy feon § yqE =eer § 2
(1) w=

(2) SAI<eAHe fafawar

(3) T IET

(4) forenedt & fo=mi @ stagH &1 ST

25. frAfafad § @ iy & ford ger ¥ Hee frafiel 8 gur R = wfsa e s g ?
(1) =FerRd MY (2) Trars Wy
(3) TR MY (4) Hifaes oy

26. T TEhdl =i i fa - Sg@Ed W 9ot fafe & gura 1 SHeher HH T YA HIA ¥ 1 DA
ot wiry-fafy sa% fag sugaa 2t ?

(1) YR 9gfd (2) wHERR ggfa
(3) wE&T Ugfd (4) =l oo ugfa

27. Trafafed § @ -9 Wy Afdswsan = g & a8 ?
(1) i ! wwE i et 2

2) fee Tl @1 fased

(3) iy f=Rel sl RUE &E

(4) HifeTeha dep-iehl o1 3o HWT

28. HehoIcHeh TX&TUN o SR TR Teh fraren 1o foranfefai & froure sHerer =l 388 sifveraa gitera
St et o HeH T SATEATId a1 § 1 9 HaT S

(1) W T8 A9 i
(2) HHE HefHa Tdier

3) Trerw Hefda adiem

(4) TR Tde

wooo [ ALEIRNEINATRA

[y
ot

P.T.O.



29.

30.

31.

32.

33.

34.

wooo J{RIRTIMERAE

In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?

(1) Workshop mode (2) Conference
(3) Symposium (4) Research Article

Assertion (A) : All teaching implies learning.

Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Occurrence of natural hazards is affected by :

(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change

Choose the correct answer from the code given below :

(1) (a) (b) and () (2)  (a) (b)and (d)

(3)  (b), (c) and (d) 4) (@), (c) and (d)

What is the name for a webpage address ?

(1) Directory (2) Protocol (3) URL (4) Domain

Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Banaras Hindu University (2) Tezpur University
(8)  University of Hyderabad (4) Jawaharlal Nehru University

Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?

(1) St. Stephen’s College, Delhi (2) Fergusson College, Pune
(3) Maharaja’s College, Mysore (4) Miranda House, Delhi
12



29. frafafed #§ 9 fora oremen # foami oIk 481 1 e 9 (FaeH) Hl H9a - ST Hehdl © 2
(1) <hriemen ggfa (2) THEHeH
(3) gt (4) Y@

30. 3faeRe (A) : @t foreror & eaferm fofed € ®
e (R) : AT 1 TN B o T 3/ eTavass &9 | freror ¥ =gegst 21 =nfeu |
frfafad o o W&t S h1 997 HY
(1) (A) 3R (R) I =& &, AfFT (R), (A) T FE TIEHH T 7|

2) (A) 5 g, AfFA (R) Tod 2|

(3) (A) T &, AR (R) W

(4) (A) 3R (R) I T ¥ 31 (R), (A) 1 T& TILHT T |

31. Yihfae Aaersii & "fed g H fAfafad o1 qume gedl ©

(a) gfi - ST § gRad (b) < feRE SR FEfo
(c) TSI | HH (d) Sterary aRedd

= QU 7T Fe § § T IW 1 =TT DI

(1) (a), (b) ¥R (o) 2 (a), (b) ¥ (@)

(3)  (b), (0) ¥R (d) 4) (@) (0 ¥R (d)

32, 99-U8 U (TSH) & fod s - § 2
(1) <SEEwRd PR CEI] (3) IIARTAL (4) <A

33. Ti=fafaa favafaememl & @ 8 ®ad 2017 ® 69w foavafaacE & fau garsas
(fafsrex) o1 qrEenr e g3t ?

(1) =rE fe<g fovefomme (2) AN foredfemEmeT

(3) AR forafoEme (4) SERE Te foavdfaEmeT

34. T Gieenfieh JoieRor g (TA.3TE. TR UW. ) o 3TER f=fatad § 9 ford <9 8, qd 9 sie
(2017) T T WIS €37 2

(1) He LIhd Hierd, foed (2) ®EA e, gOI
(3) RRIST shicisl, HIX (4) e ey, fet
sooo [[[HMUENUALAUITIRNI 1 P10



35. Which of the following are the goals of higher education in India ?
(a) Access
(b) Equity

(c)  Quality and Excellence

(d) Relevance

(e) Value based education

(f) Compulsory and free education

Select the correct answer from the code given below :

(1) (a), (b), (©) and (9 () (@) (b), ©) (@ and (@)

(3) (@) (b), ©) () () and () (4) (a), () and (¢) only

36. Among the following fuels of energy, which is the most environment friendly ?
(1) Biogas (2) CNG (3) Hydrogen (4) Ethanol

37. Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?

(1) Nitrous oxide (2) Methane
(3) Carbon dioxide (4) Chlorofluoro carbons

38. Which of the following come(s) within the ambit of the term ‘corruption’ ?
(a) Misuse of official position
(b) Deviation from rules, laws and norms
(c) Non-action when action is required
(d) Harm to public good
Select the correct answer from the code given below :
(1) (a) and (b) only (2) (a), (b) and (d)
(3) (@) (), ) and () (4) (a) only

39. Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Governor of a State

(2) Chief Election Commissioner

(3) Comptroller and Auditor - General
(4) Judge of a High Court
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35.

36.

37.

38.

39.

wooo [ ALEIRNEINATRA

IRd § 3= foren & aed FreAfafea 4 d e @ €2

a) AP

b) A

0 TS TR

d) YRRl

e) ToF I fren

f) oAt wa g e

1< U 7T e § § wEl W A ¢

) (@), (b), (e) R (f) 2 (@), (b), (©), (d) ¥R (e)
)

3) (@), (), (©), (d), () R (f) (4) = (a), (b) R (e)

freAfafed e Somi § HiFA-91 S TR & foe ged e € 2
(1) @& (2) ErEAS (3) TEESSH 4) THE

frafafad § 9 HH-5 ygus 9 Ihfas &9 9 IR Teifies Tfafafy & qRomeasd SH1 9 3a=
& el 2

(1) e sfieEe (2) e

O IEEIEERSEEICIESS (4) FAUF FHET

frefafad § ¥ -1 yeER’ g S aikfy | o § 2
(a) HTRRT U 1 GEIAN
(b) T, Al IR ARl § fawem

(c) T AT SATIH B A HRATE T HE

(d) <k gHafd ol JHaH

1 U 7T e § 9 W@ SW A ¢
(1) e (a) 3N (b) 2) (a), (b) 3 (d)
(3) (a), (b), (c) 3 (d) (4) A (a)

frefafed § @ fa dog & wiga y&are & o wseufa grRr gerdn s dehdr 2

(1) T hl T

(2) H=T I Y
(3) fr® iR wewE wWeas
(4) S ETAI I A

[y
a1
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40.

41.

42,

43.

44.

45.
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Assertion (A) : In urban areas, smog episodes occur frequently in winters.

Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.

Choose the correct answer from the code given below :
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2) (A)is true and (R) is false

(3) Both (A) and (R) are false

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)
Which of the following represents billion characters ?

(1) Megabytes (2) Kilobytes
(3) Gigabytes (4) Terabytes

Which of the following pollutants is the major cause of respiratory diseases ?
(1) Nitrogen oxides (2) Carbon monoxide

(3) Volatile organic compounds (4) Suspended fine particles

Which of the following domains is used for - profit businesses ?

(1) .net (2) .edu (3) .com (4) .org

The data storage hierarchy consists of :
1 Bits, bytes, fields, records, files and databases

3

1)

(2) Bits, bytes, records, fields, files and databases
(3) Bits, bytes, fields, files, records and databases
4

4 Bytes, bits, fields, records, files and databases

What is the full form of USB as used in computer related activities ?

(1) Universal Security Block (2)  Universal Serial Bus
United Serial Bus (4) Ultra Security Block
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40.

41.

42.

43.

44.

45.

Aafirerer (A) :  IRA & B, SIS & fol § SToRR -l ot FeAd "fed 2l € |

e (R) 1S o Hreq H o T A % g W A = T e % fan o2 men i
Jg-Gafa (STEHE) i S © |

e fou T e § § TE S B T HI

1) (A) 3R (R) S W& € WA (R), (A) T T =0 7 2
(2) (A) T g R (R) T €

3) (A) 3R (R) ST TTerd €1

(4) (A) 3R (R) S T& € IR (R), (A) H T A T

2

4

Frafafad § 9 F-1 T oRa (Tafeam) e yefiid o g 2
(1) e (2) TercimsE
(3) TimeTEEE (4) TETEE

frefafed # § HF-91 YguS vauT-a3 ¥ TS Al 1 T R0 ?
(1) FTEeSH AlFES (2) IS HHAISATFIES

(3) OTSTEiE HTEleh AR (4) Tocifsa gaa s

frefafad el # fFa STyt =R &g Ja T S € 2
1) WEA () (2 FHI(W) (B) HAW(FWE) 4) .30ARSH

TR HERY & Afushd § A © :

(1) foeg, ey, wieey, ey, weed aun SR
2) foeg, sy, RHEY, wieed, wiEd 991 SREYS
(3) fored, ATy, wiveE, wEel, REATSH T Sreras
(4) e, foed, wiee, ey, Hee qo SrereEs

4

FER Y e fod S § FAN g 9, TH S, 0 9 S ?
(1) FHada faenfE sam () Fiada HiEd 5|
(3) IR Hiaa =9 (4) iz TeaatE: <ats

v [[MIINIIEHINONRTY -



Read the passage carefully and answer question numbers from 46 to 50.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.

I

B-000 ’



TEITYT ehl &9 | U 3T U9 AT 46 W 50 AT ST S |

STeraTg, aRed 1 TR TRt w1 Haifess TR Waw W S € 1 SEeRT TAieRT, Hie TR,
TrE e, A wifafafy, Trenfae derer ok ¥ifde sasEr W gfied 9uE 9ed § | dfveas sieery
e Y IRaEfad gl Wl § | Sorary qRedd et A sl Fiad i arel Sehrl Iet (3TE. 9.5, )
% STHR STefary URed= & Ul bl uget & Uferd fomen S e € IR Safes fehd o1g g € o wrashan
AR ferrgdes wRaATE fohan ST Tews €1 Sierary ufikede o Ui e fad opie 9§ 8 2§ stean
faf yrrfae daredl W & fR 72 § afew Sterary afeds & amfsens, onféie oiR Tsifaes omem off €
S 39 91 I g R ¢ foh foRe WehR & Seraryg aftenda fafis el o6t weifaa & €1 fAe safaa
% qTE WTehfeh STIRIsTl S8 @, 916, Hershald S7IfG o IR0 i i gHare &fd i gfid w & fag
IR & WA B § | e e @ e o) Soery agend i faree ghitadl 9 g8 8 S8 @ § SR
STeTaT] URede % HR ST o foT 3TN S R F9T q o 19 sified s gfvewat & som | g
Ut ¥ foh Uehfd o S<erd STl o W WHSEA 93 H g THE! S WerEdl Sl S J1feu | STdhe
e Yfshan ¢ ek wneem | g siffeea wfgs & 9 gree foem § 109 o Je € 9 Wery S
¥ Sorarg giada % |1 SR % ded SyfEd e iR IRad s & Area 9 Soer uikedd &
THRRIEE T Sl A F (TR GHET 1 HERT 38M) 6 foaw T2 3u™ fove S €1 57 3amei o
Ureifienta forehed ae: ael g5 HHa! GRal s1o@ feqell T a1g - Wafd =X 9 oot AT TR TR aeRI
IREdd S8 @ & 999 | g 1 wH FA e §1 o WHifadl § = wesli & fore qd =raret
YUITeA!, SIgaX STel Yo, Soid Siiied Yoo, fafis s fasmea iR So-fafayar e gfmfea g1 afveass
T gfg o RO 9 i § Forary # IRede 81 W1 8 I8 STewdeh ol Sl ¢ foh ooy giadd & gfd
forprerelicr <ot <t Srerdm 1 W foRaT ST ST STRT TR &HdT 1 SR ST e T TR =ifqal
FHEifad i S | Serarg, uRad & 9fd e THeE ¥ UL IR IRisg gt Tl w g 31k
Rl i AT Hr &1 T SR 9T % Serarg % 91 g faer ¥ 9HerEl S S0 et
IRERE FH H1 ITANT A 3R T ATsiifasht o fafasfinor & we-wy aqfeaa denfife & o
gfgd STot Tl SAMT =1feT | TR SR T el & |1 drerd faei gy |mere faem e
T AT TR FE 61 JE e < =nfeq | STeher Seiet geaay T ufkfefadi  fRk e €1
STTaT] aiet Seerel ST SRy HH A1l % 1Y grHee foaeM & Geie § T SHerEl % e g8d 9
3R STvE ¥ | TIT TSR T THI ¥ 3RYF A Sorary URadHl o @Y qrerdel faeH W@ ¥ 1 T A
% fore 3= fonma & Higet Tt & o799 STYE % SMUR R 19+ Tt 3ik Giad I & T8y Janiar
HI T THH 3 T off WihA 1 § 59 3% e, @ SR ThHH ST == T seA1sil § gfafsean e $ik
STE SORAT ISl &1 WS foaem 6t g WHIfqEl Sged & FaeH | meeul o WE | ey
TR i I5g W FHEE! Sl IR-aR =R serary fefasi aen 78 Serary feafadi oi) = fearfaai o1 amn
FHAI IS @1 8 | IREReh JE H 37 TG &l Sl df¥deh 199 i asie ¥ Serary IRedd & THE ol 7agd
FR T €, STty I & 91 e foem aun $ve, agfud iR guafag SuE ged | wemer faertt )

el | T




46. To address the challenge of climate change, developing countries urgently require :
(1) Implementation of national adaptation policy at their level
(2) Adoption of short-term plans
(3) Adoption of technological solutions

(4) Imposition of climate change tax

47. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a) Their dependence on natural resources
(b) Geographical attributes
(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :
(1) (b), () and (d) (2) (@), (b), (c) and (d)
()  (c) only (4) (a), (b) and (c)

48. Adaptation as a process enables societies to cope with :
(a) An uncertain future
(b) Adjustments and changes
(c) Negative impact of climate change
(d) Positive impact of climate change
Select the most appropriate answer from the following code :
(1) (a) and (9 (2) () (0 and (d)

(3) (o) only 4) (@) (b), (c) and (d)
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46.

47.

48.
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Serary, gieds st g § fued & fore fasmastiar 3o 1 stemeavas 'v 9 frafafed § 9
HT FHI T 72

(1) 319 ®R W AL 3TIHe ifd 1 s

2)  3TCUTETY ASHN ST

(2)
(3) YN HHIEM STHAM
(4)

4)  Soremyg qRads T T

e Seraryg afted % fa e safaadl st Serar % wRe fou T ¥ | wE W A % 1 wEE H
(a) TRideh GETEA! T 3Tt FHRar

<< :
(1) (b), () 3 (d) 2 (@), () () ¥R (@)
3) fak (o 4)  (a), (b) ¥R (o)

3T Uk Uiha & &9 H qATSH 1 ffafead § 9§ forgs e arse fagm & e o=m § 2
(a) i wfeaey
(b) FHSE iR gfREd

(c) SIcTemyg Yferdd hl ThRIcHh GHTE

(d) SorETg IREdT T HhRIcHS JHTE

frfafad e d 9 gaifys Suget ST 1 =2 &

(1) (@) 3R () 2 (), () 3R (d)

() & (o @ (@), (b) (©) 3R (d)

LI




49. The main focus of the passage is on :

1)
()
(3)
4)

Co-ordination between regional and national efforts
Adaptation to climate change
Social dimensions of climate change

Combining traditional knowledge with appropriate technology

50. The traditional knowledge should be used through :

(1)
(2)
(3)
4)

wooo J{RIRTIMERAE

Improvement in national circumstances
Synergy between government and local interventions
Modern technology

Its dissemination
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49. 39 T H Gehfgad fog ®
(1) &= 3R U Tl & ofte 99
(2) ey WfEd % Hfd STgEe
(3) oAy UREA o WHEISH A
(4) URURE I 1 FYfad SN & e Sie

50. YRR I 1 AN F=fafad § 9 fegs aeem 9 foran S =nfew ?
(1) T aRfafal 9 gun ga

(2) TRER 3R T TEE % fi= aeHd |
(3) My Ureifitent R
(4) THh JEIR-TER 5N
-00o0-
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